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2 Data structure overview

3 Exam summary

Read
Huffman what to optimize for

min of bits

Hoffman what was greedy choice

two lamest frequencies

what to look for in the tree

high freq at the top
low freq tar at the bottom



I.GradyHuffmany
Create a tree ul frequencies characters

left 0 right I

goze min bits when tree is used for compression

481 514 7 freq an optimal choice

How do awe actually implement you

choose 2 West begs x y

iffygo on the bottom

what it they're not on the
bottom

y2other chars a ma b are on the bottom

ftp.freqtb.fr
szzcy1 4

If a
y

tothe bits
restottat

what it x y are
swapped with 2 b

totze of bits

rest of tree t Letz
C ezZ

Z t c



2 DZ hStndm

naive Dt C DP Greedy

trying to do better with eachtype

sometimes
ayyyfiswituthennyweaganizar data

sometimes we need want ar data orgorganized

differently Husttomakearalgoway
Binaysend

KI Binay
Sinn trees 8

left smaller 66 6
right bigger
assume balanced not outwit

operations_semnwa888i
insert a node

remove a node



Hoffman

Actually a hosp

looks like a BinaryTree

has an underlying array

Heap.PYIYn.ae is smaller
than everything below

Freqs 5 9 12 16 13 4

É 88 textEITyremovethe rootmin
returns it

rearrangeremaining
elements

finsertated
insert element e
into heap
maintain heap
property

Treesinghae the root you have the whole tree



Isets
no dupes
order doesn't matter

operations union intersection complement

had
FIFO first in first out
add

fkn
remove

back front

opertifnque Q e

putelement e in back of Q

dequeue Q

remove t return element from
front of Q

to



Exam Tanana

in class

on paper Holutions
in designated was

backpages justfor scratchpaper
extra scratchpaper
8.5 11 inch cheat sheet one sided

no other notes denies

90 minute exam end at 11 30

On the exam

new algorithm prove correctness

familiar algorithm 3 use in a differentway
Run time

given iterative also
countup steps

ti times looptest is executed
when i 1 2

we'llwant a Summation

Sum up all thesteps get total

put a band on

given Dt C algo give a recurrence

probably not solvetherecorent
State the band

DP 5

given a recursive formula write the table
Amado

givepseudocode
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given a description of
a Dtcago

give pseudocode


